=
£ 0l & A g Al
20199 & =04 Lurs|H 5 Dt
SAM: 3D
Yu: £ IS
ool AT 3 HBL
dHEE
SA-3H-HA(3AH) - Be= Off &t 24 Oll &F 0t
31 ot 7,008,947 5,848,829
= 5,000
Al 7,003,947
S HNSY 4,951,700 3,764,195
< 5,000
Al 4,946,700
AXs 3122 382,816 350,632
Nszael 28X 29 93,991 93,691
201 Yete H | 83,711 83,411
01 At 2H2lH| 76,880 76,580
O1 ger g 61,880
DAREE o 550,000% 128 6,600
20183 1 &1 & EZ A () oy
220,0002 *80 17,600
>201BEI MO E MELMBZ AN (2K
E, SDHEDA TE) 2460002 *80 19,680
201831 MO E MELMBZ AN ZA2A
o1 4 10,0008 1005 1,000
>20183I H OIS HRBDMN BOISIHA AE
bl 15,000, 000! * 14} 15,000
>EIHANE HE
2,000,0002 144 2,000
O3 2¥+¢ 15,000
DZARASIE T 150,0008 #5901 «20L 15,000
02 BBl 6.831 6,831
O1 B2 2 MA 6.831
CINBABRE MRS
23,0002 %2970 6.831
202 01 7,280 7,280
01 2L ol bl 7,280 7,280
OsHYREX 7,280,0002 14! 7,280
301 YA 3,000 3,000
09 BAHAIHI 2 & 2 3,000 3,000
OZMZAMSIE HH2Y 3,000, 0002 144 3,000
ZHGtD SYS AHAzL 43,730 44,010
201 Yet2 | 35,090 35,370
01 At 2H2l I 23,090 23,370
O1 gprag] 20,640
PARSE o 220,000% * 128 2,640
>ESEH Lot YEBD 2482
(20, )+(10,0002 *80021 ) 12,000
DEAMMN T Hx)
1,500,000 *14! 1,500




S RECI ()
M SHE A2
Chel: AESE gl H2el (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
DEZatcl A2 500,000 75 3,500
PEES HI =2 5,000& x100& 500
DAAt2E| S A 2HIE AN ESD+Z(
UBEF) 100, 000& *53] 500
03 2g+g 2,450
DAY RS BH+E
70,000& *5Q1 x7 3] 2,450
02 2324l 12,000 12,000 0
O3 A& & HlI s Xt 12,000
DAHS2AZ T RAES
100,000& =122 1,200
DRFIDEIHII AZEQNH FRNE=
900,000& 122 10,800
202 04l 8,640 8,640 0
01 = LHA YI 8,640 8,640 0
OAAHRF=E Kbl 8,640,000 » 14! 8,640
SEXE 22 245,095 212,931 32,164
201 LB-2E| 165,095 157,931 7,164
01 At 2t 2l 23,064 23,064 0
O1 get==2Hl 23,064
PEESE(UY) 2FEI =2
253,000 *20H 2 +43] 2,024
DXAZEIBAF 2HIE EXNLEID422(
XHEFOH2) 160, 000& *43| 640
DASEE <&t =X 22 OI0IK MZE
6,000,000 » 14! 6,000
DINEECZ SIOIIHAIE &
100,000 = 12CH x 12& 14,400
02 =224l 142,031 134,867 7,164
O1 3322 ¢ HA 20,126
DEZNERE S 70,0003 x13CH 23] 1,820
> Xts ZHAl 6,606
[OR=R== = 130, 000& *4CH =151 *90/100 468
[OR=F=FAg= 130,000 = 1CH* 151 x90/ 100 117
[OR=R=0=3= 520,000 *2CH*13]*90/100 936
(OR==J0 = 860,000 *2CH =13/ *90/100 1,548
OSEU=SAE 750,000 *4C0H 151 %90/100 2,700
OsE=- 48 90,000 *401=151%90/100 324
osgus 150,000& = 1CH =151 *90/ 100 135
Ost=24d 70,000% *2CH 131 ¥90/ 100 126
OS2 - s 140,000 2CH 151 x90/100 252
DUSHHAZIA =22 (58 - S8 - USH
kg 25,000& x22CH 13| 550
PASUHEEZE 11,150




S RECI ()
g EFE sH=2Y
Ee: AEE g A2 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
o8 d-2-5-U48
450,000& *9CH * 13 4,050
oOsEU=xE 400,000 *4CH *13] 1,600
oOsg & -5 UE 700,000& «5CH 13 3,500
ostE & -=-UHE 500,000 *4CH *13] 2,000
O4 Xt - det] 121,905
> X &= Xl 121,905
[OR=F=FAg= 4,987,000& +50H 24,935
[OR=R=0="3= 6,867,000 »2CH 13,734
OSEUE 10,000,000 *2CH 20,000
OsEU=XE 4,871,000& =4 H 19,484
OSE=E 3,993,000 *4CH 15,972
osgus 12,000, 0002 = 1CH 12,000
Ost=24d 3,416,000 »2CH 6,832
Ost=&¥ 4,474 ,000& +2H 8,948
405 KHabH S| 80,000 55,000 25,000
01 HatH ESFH S 80,000 55,000 25,000
OdsH2IX S (wAl) 80,000,000 = 1CH 80,000
SESHOl a2 1,155,256 952,408 202,848
< 5,000
Al 1,150,256
SR Matzte] 1,150,256 947,408 202,848
201 LB-2d| 1,126,416 923,568 202,848
01 At 22l 59,880 59,880 0
O1 Ler2gyl 54,000
PBRMAMBE 2BEILLE
1,000,000& *303| 30,000
PESMARE NHEBLLE
1,000,000& *203| 20,000
D24 E Ol8sx2 500,000 x83| 4,000
03 284y 5,880
DERML Hos BHsg
70,000& »7Q1 x 123 5,880
02 2324l 1,066,536 863,688 202,848
O1 3332 & HMA 1,061,536
DRESS(AE LIAAM LE)
250,000& 1228 3,000
> 2K M e 2 62,500,000 *43| 250,000
> X E S 2] 789,096,000 x 14! 789,096
DIRMA(AS) 22 120,000& 128 1,440
DEIRML(AS) 4o+
1,500,000& = 12& 18,000
O3 AIE ZHI =Xt 5,000




2A: A
HM: EYS FIH2F
S SE2HQ a2l (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
>2EKX 22| AlAE(DDAS Land) | Xl
5,000,000& *1 5,000
202 (4] 3,840 3,840 0
01 2L Y] 3,840 3,840 0
OSFMA22IE 2 ol 320,000& x12& 3,840
401 Al HI L £ 0HHI 20,000 20,000 0
01 A& HI 20,000 20,000 0
OSHEMA& SA2e 20,000, 0003 *14] 20,000
2Ma2(EX) 5,000 5,000 0]
= 5,000
202 04| 5,000 4,000 1,000
& 5,000
01 2LHHI 5,000 4,000 1,000
OZ28 A 2elg =& 5,000,000& x 14 5,000
& 5,000
A2t el 3,413,628 2,461,155 952,473
HAI2G 22| 2,360,388 1,838,275 522,113
201 Bt H | 1,280,288 1,279,175 1,113
01 At 22l Yl 63,135 63, 135 0
O1 dEtx=2H| 59,685
DAIRES 2 A28 2 200,000& x12& 2,400
DMY I SH =S(1004 )
3,300& *100& = 12& 3,960
DMY I SH =S(504 )
1,690& 160 &+ 12& 3,245
DA HAEE P
20,000& *41 00 A~ x12& 9,840
DA AFHMNAES L
10,000& #4101 A x12& 4,920
DAHISE NENH 22 10,000& *4101 =12 4,920
>ot&E X 2 40,0003 178t A 128 8,160
DHHEEIES F7¢ 30,000& 202t A x12& 7,200
>etstl 2 10,000 *821 A~ x12& 9,840
>CDSe FYU(BAEE) 200,000& *14] 200
D> EAAICIE M 2 P2
5,000,000& * 14 5,000
O2 e usHl 570
D AGOrM 2| A oM 22| WS
80,000& *20! 160
>BAIHADID| AR 1= 80,000& 20! 160
D& St LR = 25,000& 20! 50
DI otM 2L WE 100,000& %201 200
O5 2 &l 2,880




2N

=i ()

M SHE A2
& FArzel (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
DUHMBOEE OF2t, FSL22X
8,000& *321%103|x12& 2,880
02 =224l 1,217,153 1,216,040 1,113
O1 22232 % HMA 578,502
DEAMN HIR= 43,000,000& x12& 516,000
DEA MotER23 4,500,000 x12& 54,000
>EAM Xot=018RE= 200,000& =122 2,400
DEMN NERLRES
350& *37,081.62m *0.82x0.5 5,322
DOFAAILD B 22 150,000 x 14! 150
> Agrotd 2te| Xt ¢ 3l bl 50,000& »2¢! 100
DEJIotE 2|t 2 B A3
170,000 14 170
DREUHM=E2E 3 H3Hl 120,000& 32! 360
02 A=l 262,422
bueg =Yy (es)
8403 x135m" B A| 2t +20H x67 L 91,174
D et g H&4=0](320RT)
840& x108m" xBA| 2t +2CH x67 L 72,939
DdetE SIE2LH(2E)
5402 *135M *6A| 2t %20 x33 28,869
Degrg H&247](320RT)
5403 *87 M x6 Al 2t *20H x33 18,605
DHAZEIE BR 9273 %9004 =13l 835
>ROF 20 E UHXl 224l X2
50,000,000& =14 50,000
O3 A€ ZHI= Xt 376,229
DAIEE EoletdEH 13,000, 000& *23| 26,000
DAt pte] S 6,000,000& »23| 12,000
D> 2 ALCHA D101 2 AL A (ROF 1CH)
200,000 = 1CH »23 400
DHEIGHEREE 23 10,000, 000& * 14 10,000
DOtA HIIZAM =2 400,000 » 14! 400
DZAUADID ZAAE (2] 20)
200,000& »2CH »23] 800
D2 It H A 150,000 »8CH 13l 1,200
>s2ddl etE2el 29
180, 000& 8 A+ 12& 17,280
DAgOtM pte] S 1,750,000& = 12& 21,000
DEAHY RUHIH |A2es8Y
20,000,000* 14! 20,000
DZHE SE/ILHAE tHEFZY EY
5,000,000 =14l 5,000
DEA AIE2 RA 2 1,500,000& »12& 18,000
DYALS 1,300, 000& *53| 6,500




M 3

o £s AANSY

& FArzel
SA - ZE-B(EA) - NRAY - B S il &t o il
DAHESEAL (LAY JIHE , FIUHE 5% S)
,000,000& *43| 32,000
DA FA 18,000& 600 m* 10,800
DM EA 15,000& *100E »23| 3,000
D> 1BSA AlAEZe] 9 4,400,000& =128 52,800
DERAINI M2(ELH W22, WsI)
4,000,000 =6 CH 24,000
DERII RA(BZR 4|, HED]
2H1A]) 10,000, 000& * 14! 10,000
D> 1BSA MazEts KX el
41,113,000& *8/100*1.1 3,618
D> IBS&H CATV(E L TV)
54,888,000& *8/100*1.1 4,831
DeMI R 2l (Hd, =0, +8)
5,000,000& » 14! 5,000
>ERAIIIH2(ROFEL ) 6,000,000 «1CH 6,000
DROF M2&H 2 MHEgs=+2=
150,000& 100 15,000
>>ROF 2 &HI(OHE &=>0 U X HE)
35,000 600 21,000
DROF CHOIRE =& XIHEE F Ak
1,600,000& 22| x8& 25,600
DROF CHOI2E =& Col=24 SFH]
5,000,000& »23] 10,000
>ROF A &= & A H| 2,000,000& »23| 4,000
>ROF =Xl 2= 10,000, 000& * 14 10,000
202 oddl 9,600 9,600
01 = LH o4 1l 9,600 9,600
OF A=Al 2 el 800,000& »12& 9,600
206 M= Hl 77,500 77,500
01 =8l 77,500 77,500
HeEEE 2 JAHSH 1,500, 0002 14 1,500
OsXJI2H ¢ 9,000,000& =14 9,000
OFA HIIXTH 2 12,000, 000& 14! 12,000
O S & XHH & 5,000,000& x 14 5,000
OazaAsd 2¢ 50,000& 54 «12& 3,000
OoagEs 28 & WA 2,000,000& x14! 2,000
ORUH=Y% M= 10,000, 000& 14! 10,000
ORUsE MZ 5,000,000& x 14! 5,000
ORUIIA M= 5,000,000& =14l 5,000
ORDF JIH & Tt & 377
5,000,000& =14l 5,000
ORDF DI & 4ZEF LU (2LE 2 28)
9,000,000 » 14 9,000




M 3

o £s AANSY

& FArzel (=& J)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
ORDF J|H & HXI|(HEH)72Y
45,000& 2004 9,000
OSZ3 A= 2,000,000& » 14! 2,000
401 A& HIZ 201 8] 673,000 452,000 221,000
01 A& HI 673,000 452,000 221,000
O&EMAIE FXNEx SA 280,000
> J1 A &£ Yl 20,000,000& » 14 20,000
> &IIAl- 90,000,000& =14 90,000
> AEAlS 15,000, 000& 14! 15,000
> SAAE 10,000, 000& * 14 10,000
DASAE 100,000, 000& * 14! 100,000
DAY SUAEEH 20,000,000& =14 20,000
> =20 25,000,000 =14 25,000
OFAHBR20EZE LED WM S At
100,000, 000& 14 100,000
O&FIIA NE8 HIIE WHISA
95,000,000& =14 95,000
OAMEBEA BRAE,IIZ2S 2 E=ZA
40,000,000& =14 40,000
OFEAMN S2(2=) CCTVLLH S At
70,000,000& =14 70,000
OFAN =XXEHI| B 20,000,000 =14 20,000
OFAL 8201 E2 AIAE W3S A
15,000, 000& 14! 15,000
OFA &4 AT WH
21,000,000& » 14! 21,000
OHIOLEE ZH| dH&I| AXZA
20,000,000& » 14! 20,000
OWS0IEE JAF FIIAHAG
12,000, 000& 14! 12,000
405 RHoHF S HI 320,000 20,000 300,000
01 et EFSFHSHI 320,000 20,000 300,000
O=Ha Ad ZHI|(WA) 50,000,000 *14] 50,000
O3HZ RYE0IE 260,000,000 » 14! 260,000
O3HE da&l 10,000, 000& * 14 10,000
SHS AL AIEE=3 A 453,240 622,880 A 169,640
401 AIEHI L 20| 453,240 622,880 A 169,640
01 A& HI 450,000 620,000 A 170,000
SHS AL SHEAHSAM
450,000,000 » 14! 450,000
03 A& =TI 3,240 2,880 360
OAIZ 2 HHI 3,240,000 » 14! 3,240
CtHs FRHEH A5 600,000 0 600,000




M 3

o £s AANSY

©ol: HArzel (29 a8)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
401 Al HIZ 201 Y| 600,000 0 600,000
01 A& HI 600,000 0 600,000
OHHsS=CMHE M5 600,000,000 » 14! 600,000
Heas (s A) 1,869,000 1,930,500 A 61,500
RSN 1,869,000 1,930,500 A 61,500
Xl 2 X &F & 1,869,000 1,930,500 A 61,500
311 X+ S0l At &f & 309,000 370,500 A 61,500
01 Al -2 - FXNENLI XL S0I RS 300,000 360,000 A 60,000
OZ23FA(EAL, AMUZSHE)EXS 0K
300,000,000 =14 300,000
05 JIEFXHS 3 O RH&f & 9,000 10,500 A 1,500
OEALZHIJIZ Ol Xt 9,000
PI2sFUMEH A= 9,000,000 » 14! 9,000
601 XL S =4t 1,560,000 1,560,000 0
01 Al-Z - AN sHL==a 1,500,000 1,500,000 0
OS3EA(BAL, NURSMEH)SAZ 3
1,500,000, 000& 14 1,500,000
05 JIEt =AY =34 e 60,000 60,000 0
OFALZHIDIZ &3 60,000
DI2sFoMdEH A= 60,000,000& =14 60,000
HEY2AAH 188,247 154,134 34,113
ol @A A (3 H ) 143,420 115,273 28,147
ol 2 Fdl (3 H ) 143,420 115,273 28,147
101 14l 143,420 115,273 28,147
01 2= 134,712 108,033 26,679
OAlZt 284 10,2993 %3401 x300A| 2t 105,050
OANZAZ2 R4 (SY) 10,2993 *321x960A| 2 29,662
03 RIAHAZZ2E = 8,708 7,240 1,468
og&EzZ2+Y 8,708
DEATAR(FAAIE2E])
14,5123 x10Q21 x60A| 2t 8,708
Jl=2ZH(3 A W) 44,827 38,861 5,966
Jl2Z8 (3 H ) 44,827 38,861 5,966
201 Let24E] 20,557 20,341 216
01 At 22l 18,256 18,256 0
O1 gt=2Hl 7,600
PEN2I+=EH 6,600,000 » 14! 6,600
> M 1,000, 000& 14 1,000
O5 2l 10,656




M 3

ol HY2 YA

¢elr J12Z3HI (3 AHD) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET

DOot2t, g2t 8,000 3721 33| x 128 10,656

02 2324l 2,301 2,085 216
O1 3322 ¥ HA 2,301
DRERS 2,1303x902 x 128 2,301

202 odl 12,040 12,040 0

01 = LH o4 1l 12,040 12,040 0
OJleg =80l 9,040,000 » 14! 9,040

O3lH & HALYRFT 22 0|

3,000,000& »14 3,000

203 AR E= | 5,880 5,880 0

04 FNSEHE=LH| 5,880 5,880 0
OFRN2IYS=AHI 490,000& x12& 5,880

405 RHoHF S HI 6,350 600 5,750

01 AL EZFH S 6,350 600 5,750
OAXH(HES) 300,000 » 154 4,500
OTV(L ) 1,150, 000& = 1CH 1,150

OZgle (Al) 700,000 = 1CH 700




